Appendix D

Examples of individuals or households currently claiming benefit and how they will be affected by each model

Scenario — changes in the benefit/support received Present Model 1 Model 2 Model 3 Model 4 Model 5
9 PP Benefit Support Support Support Support Support
1 Miss R is :.:1 I.one pare.nt with two chll.dren aged 4 & 2. She does not work but receives Income Support and her £1913 £10.52 £14.35 £15.30 £17.22 £17.50
property is in council tax band D which equates to £19.13 a week.
2 MrH |s.a s!ngle persgn who has recen.tly lost his job and claims Jobseekers Allowance. He is in a one-bedroom £16.40 £9.02 £12.30 £13.12 £14.76 £1501
flat which is in council tax band A, which equates to £16.40 a week.
3 Mrs P is a lone parent with one sc.Jn a!ged 15 WhO works and claims tax credits. She has a second son aged 18 £729 £0.00 £0.00 £0.00 £0.00 £799
who is unemployed and they all live in a council tax band C property that equates to £29.15 a week.
4 Mr & Mrs J Il\./e |r.1 a council tax pand B prgperty which gquatgs to ,.‘325..5.1 a \_N(.aek. Mrs J works part-time while £6.38 £0.00 £0.00 £0.00 £3.83 £0.00
her husband is disabled and claims benefits as a result including Disability Living Allowance.
5 Mr B is severely disabled and is unable to work, receiving Incapacity Benefit and Disability Living Allowance.
With the help of his carers he has a tenancy in a council tax band A property that equates to £16.40 a week. £14.50 £6.65 £9.93 £10.75 £12.86 £12.63
6 Mr & Mrs T rent a two-bed Housing Association property in council tax band B which equates to £25.51 a week,
and live off Mr T’s earnings. As a result of Housing Benefit changes their rent will increase by £12.90 a week. £15.80 £6.27 £11.37 £13.27 £17.25 £16.20
7 Mrs E is widowed with her sole income being from a private pension. She lives in a council tax band F property
that equates to £41.45 a week. Also resident are her two adult sons who earn £180 & £249 a week respectively. £27.40 £3.21 £10.22 £17.08 £22.27 £22.83
8 Miss M |§a lone parent Wlth a child aged .1 ina comimul tax t.>and B property which equates to £19.13 a week. £1913 £3.24 £7.07 £3.03 £15.46 £17.50
Her only income is from maintenance, child benefit, and child tax credits.
. , . Present Paid | Model 1to Model 2 to Model 3 to Model 4to | Model 5to
Scenario — changes in the amount that needs to be paid
Weekly pay Weekly pay weekly pay weekly | pay weekly | pay weekly
1 Miss R is E:] I'one pargnt with two chll'dren aged 4 & 2. She does not work but receives Income Support and her £0.00 £3.61 £4.78 £3.83 £191 £163
property is in council tax band D which equates to £19.13 a week.
2 Mr H |s'a s!ngle persqn who has recen'tly lost his job and claims Jobseekers Allowance. He is in a one-bedroom £0.00 £738 £4.10 £38 £1.64 £139
flat which is in council tax band A, which equates to £16.40 a week.
3 Mrs P is a lone parent with one sc')n aTged 15 who works and claims tax credits. She has a second son aged 18 £1.86 £2915 £2915 £2915 £2915 £21.86
who is unemployed and they all live in a council tax band C property that equates to £29.15 a week.
4 Mr & Mrs J I|\./e |r'1 a council tax pand B pererty which (?quatgs to i.-225.'5'1a \.N(.eek. Mrs J works part-time while £19.13 £9551 £2551 £9551 £1.68 £2551
her husband is disabled and claims benefits as a result including Disability Living Allowance.
5 Mr B is severely disabled and is unable to work, receiving Incapacity Benefit and Disability Living Allowance.
With the help of his carers he has a tenancy in a council tax band A property that equates to £16.40 a week. £1.90 £9.76 £6.48 £5.66 £3.54 £3.77
6 Mr & Mrs T rent a two-bed Housing Association property in council tax band B which equates to £25.51 a week,
and live off Mr T’s earnings. As a result of Housing Benefit changes their rent will increase by £12.90 a week. £5.71 £19.24 £14.14 £12.247 £8.26 £9.31
7 Mrs E is widowed with her sole income being from a private pension. She lives in a council tax band F property
that equates to £41.45 a week. Also resident are her two adult sons who earn £180 & £249 a week respectively. £14.05 £38.24 £31.23 £24.38 £19.18 £18.62
8 Miss M is a lone parent with a child aged 1 in a council tax band B property which equates to £19.13 a week. £0.00 £15.89 £12.06 £11.10 £368 £163

Her only income is from maintenance, child benefit, and child tax credits.




